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Module-2

(i) Magnetic meridian and'frue Meridian (ii) WC'B and QLi.
(iii) lsgonic line and Agonic line.

Di fferentiate between p rismatic co mpass and su l'\'Lr\'o r' s c () urpas s.

Followins bearins were obseled rvith a conlpass. ('alculatc tlrc iutcriorlng Deanng we e oDSe11/eo \\.lIn a conlpass. L. alcuta
Line AB BC CD DF, I:A
Fore bearing 60'30' 1220' 46?', 205 30' 300 0'

OR
Define : (i) Tme menedian and tirne bearing.

(ii) Isogonic line and Agonic line.
(iii) Fore bearing and llack bearing.

The fbllowing are the bear:ings of a closed traverse AilCDirA. At
suspect the iocal attraction'l Find the corrected he i of the lincs.
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(08 Marks)

(06 Marks)
(06 Marks)

anulcs. (08 Marks)
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Third Semester B.E. Degree Examination, Aug./Sept.2020
Basic Surveying_

Time:3 hrs. ., Max. Marks: 80

Note: Answer uny FIVE full questions, clroosing Oi\iE.full question.fiom eoch rnoclule.

Module-l
I a. Distinguish betrveen : (i) Plane sllrvey and Ceodetic sun'cv. tii) Pl:in and ntap.

(iii) Accuracy and precision. (06 Marks)
b. What is ranging'l Explain indir:ect or reciprocal ranging with neal sketch. (08 Marks)
c. A line was measured by a20 mt chaip rvhich rvas accuratc befblc starting tlrc day's work.

After chaining 900 mt, the chain rvas firund to be 6 cms too long. Aticr chaining a total
distance at 1575 rnt, the chain rveis fbund to be l4 crns too long. f:intl thc true clistance at the
line. (06 Nlarks)

a. How is chainirrg perfonnecl on sloping *3rTnO by Dircct nrcthod'.) [:xplairr. (06 Marks)
b. Explain the Basic Principles of surveying. (06 Marks)
c. ln chaining pasta pond. stations A and l) on the rnain linc. wcrc takcn on thc opposite sides

of the pond. On the Left of Al), a linc A8,200 nrt long rvas laicl clou'rr arrcl a scconcl line, AC
250 mt long was ranged on the right oiAD. thc points Ll. D ancl ('bcing in thc same straight
line. BD and DC were then chained and firund to be 125 nrt arrd l5{) rnt restrcctivelv. Find
the length of AD.

3 a. Distinguish between :

b.
L.

4a.

b.

(06 Marks)
u'hat stations . do you

(07 Marks)

In the followins traverue ABCDE. the lensth and bcarinu of linr: I'rA is ornittcd. calculate the
(07 Marks)length and bearing cf line EA.

I lll

Lrne FI] t]u
AB r)4 30' 104 30'
BC 6l{ l5' 246 O',

C:D 31030' l15 l5'
DA 200 I 5' l/4-r

Linc Lcnqth (nr) For-c Ilcanns (F ll )

Ats
BC:

204.0
226.\)

87''-l{}'
10"20'

CD t87.0 l8{)'(}
D[, 192.0 I l0,03
EA
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Module-3

a. Define the tbllowing tems:
(i) Benchmark (ii) Back sight (iii) MSL (iv) Reducedlevel. (o4Marks)

b. Explain thc tctnporary adjustments of Dumpy level. (07 Marks)
c. Following consecutilc rcadings were taken with a level and a 4 mt leveling staff on a

cor-rtir-rr.ror-rsly sloping ground at common interval at 30,mt.
{).115-5 (on A), 1.545,2.335.3.115.3.825,0.455, 1.380..2.055.2.855,3.455,0.585, 1.015,
l.t{50, 2.755, 3.,345 (on B).
I'he R"L of A u'as 3190.500 rnt. Make entries in a level bobk'format and apply the usual
chcck. Also clctcmrinc the gradient eit the line AB. (09 Marks)

OR
a. Dcfinc thc fbllorving tcnns:

(i) Bcnchmark (ii) Reciprocal leveling
(ir')C'hangr-- point

[iii) Height of Instrurnent

b. l:xpluin thc tcmporary adjr-rstmerrts of Dumpy level.
c. -fhc lirllorving stali-reading rverebbserved successively with a level, the

(06 Marks)
(07 Marks)

instrument having

(08 Marks)
(04 Marks)
(08 Marks)

(12 Marks)

.(06 Marks)
(04 Marks)

the ground to be

r0

bce'n nror,ccl aficr 3"i, (r'l'ancl 8tl'reaclings:
2.228" 1.606. 0.988. 2.090. 2.864, l.?62.0.602, 1.982, 1.044. 2.684
I:ntcr tlre rcadings iri lcvel book lirrrnat and calculated RL of all the points by Rise and Fall
rncthoti il'thc frrst reaciinir was taken witli a shff held on Benchmark of elevation
-lll.i84 rnt. (07 Marks)

Module-4
il. List the ardvantages and disaclvantages of plane table surveying.
b. What is thc prircticiil utility of three-poini point'l
c. l:rplain l{aciiation and intersection rnethod of plane table surveying.

OR
a. L:xplain thc tcnn oricntation of plane table. Discuss orientation by back sighting. (06 Marks)

b. Lisl thc nrctlrocls ol'plane table surveying. Explain radiation method. (07 Marks)

c. What is lhrcc-pornt ploblcm'l Horv is it solved graphically by Bessel's method? (07 Marks)

Module-5
a. Dr:linc: a e ()ntolrr. E.rplain thc characteristics of contour. (08 Marks)

b. 'l-he tblloriing perpcndicular otl;ets werc taken at l0 mt intervals from a survey time to an

irregular bouudary line : 3.25, 5.60, 4.20. 6.65, 8.75, 6.20. 3.25, 4.20.5.65
C alculatc thc arca cncleiscd betwccn the sulvey line, the irregular boundary line and the first
ancl last otl-\ct bv thc applications ot,

(i) Ave ragc orclinatc rule.

1ii) Trapczoidalrulc.
(iiil Sitnpson's rulc.

OR
a. Discuss the ntetltods oldetertnining volumes.

b. l-is1 thc uscs of contours. 
I

c. .A ltailrvay errnbankrnent is lt) rnt rvide with side slopes 11:1. Assuming

lcvcl in I ciircction transverse to the centrc line" calculate the volume contained in a length of
ll0 nt. tlrc ccntre he ights at 20 rnt intervals being in meters.

1.2" 3 7. i.8. 4.0. 3"8, 2.8, 2.5

Usc Trapczoidal and Prisrnoic'lal rules. (10 Marks)
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